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exponential disaibution with an average of 10 bowrs.
If the average delay of ships waiting for berths is
be kept below 14 hours, how many beerths should be
provided at the port ?

Explain “Theory of Games® and discuss in detai] the
importance of terminclogy used in game theory.
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Note : Attempr any flve questions in oll yelecting at least
one queshon from each umit, All questions carry
equal marks, Assume (he missing daota, \f any

Uoit-f

I[. ‘Wrtile a detailed note on the use of models for decision
making. The answer should specifically cover the
following : . 20
(a) Need (or model buildiog
(b} Type of model appropriate 10 the situation.

(c) Steps involved 1o the construction of the mode).

2. Show by Simplex Method that the following L.P.
problem bas infinite number of pon-basic feasibie
solutions. 20
maximize Z=4x + [0x,,
subject to 2%, + %, < 10, '

2x +51 < 20,
2x,+3x 5 18,

x.x, 0
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3. Find the oplimum solution to che following
\ranspar@ation problem in which the cells contain the
wansportaion ©ost in tupecs. 20

vh, W, W w, w, Available
Fi716| 45109 40
Bl 85| 617 |8 30
FEIGIB{9 |6} S 20
FElS171 7|8 | 6 10
Requicd 30 30 15 20 5 100 (Tou)

4. Constider the PERT network shown in fig. 1 betow,
Deterrine the float of each activity and identfy
the critical path if the scheduled completion time
for the project is 20 weeks. Also identify che
subcritical path. 20
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Two persons A and B work on two siation assermbly
line. The dismibutions of activity timies ai their
stations are |

Tine in 3ec. | Tire fiequeacy for A | Tine frequency frw ],t]
T 3 2
0 -7 3
30 10 &
40 135 8
50 A3 i2
60 18 2
70 9 7
g0 N 3 |

(a) Simulawe operation of the Jine for cight items.

(3)  Assuraiag B must wait antil A completcs the first
iem before stardng work, will he have to wail
10 process any of the other cight items ?

Explain the various steps involved in the Decision
Theory Approach. Which are the decision criterions
availuble for the condition of uncertainty ?

Unlt-1V

Ships arrive at a port at the rate of | in every 4 hours
with exponential disuibution of inter asrival limes.
Toe tine a ship occupies a berth for unloading has
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